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Q.No: 1 e Ao TiRewr

A IR SERE 1T e §
B T e B

c e i §

D T T HE

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 2 &=t (31T fawa & =10 | T SR 1 UG T -
A IS SEARY

B SERY B Y&l §

C IO Fawt B SR &

D Y faedea &

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 3 3R ufiemaii Bt L1 =R, T R B QY it W SMeRa g =gl
A HEHAT; TR

B 3fem; WEARSE

G pe; Jgferd

D e, R

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 4 T ) UIed-J&ad o U9 U186 4 S it

A Faa AR Pt o1 8 onar SR J
B 3 B &

o W T Y g &

D T & IRV A g3 7

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 5 Rt v & fafty i 1 I & Ry Wit Sudh e & Fa 8-
A o1a Wi H1 fafdy SugmT

B Rregor & fafty &7 wqef 99

C e &1 B D

D T TR aed wElt

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 6 3MeYf f&et e & fou fm & & a1 siaxas =gt 32
A o=t wifeea &1 I g

B T TR HAT|
c SHRUT BT JH F AT
D HIHRYT BI JH T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 7 1 3 et Rigror de-fies &1 0a -1 Tl 82
A o
B
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TS TS
C Ruerp w7
D TS Trer Ud fRieE o
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 8 Y& sieTA Fafad o &1 G § Forr v fafkre e agR &1 fafd fexmeil # diemn 9va 8198 o9 e & 3 fouar &2
A T Tl $4 BT

B TEEH T R BT

c faferw & oo &1

D AR T S BT

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 9 w1 &  ‘fere 1 Fgar -
A T &1 R SIS ST
B il 1 feiftag S

c &Rt T qUiTHR I

D wIeE Bt = HA
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 10 fm & § HH- o 3 iR HHOIR Sraw! § e R & § 9em g ?
A Faa g uder

B Faq Aifes adler
C Fad dedr T
D Faa e ader

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 11 TP JHIGRN H&m F y1e1 &1 o1 e 71 & ReIe 31y .1 U deir?

A BHEI ¥ dvash o1 e B

B ToT AR THET B

c FORYGT TST R T fAmior et
D yfafe T e & Ran 750 F4

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 12 Trufiie TR TR HIVT @ UIed-J&i! # 59 g 3 a1ell &F wii foan s afge?
A Ut Targ S st & uRaRr & G St SR R e Y sre-srer Ten

B S Uae ¥ Y Gl R refd g

c aa PeIEl 3(yaT By

D o=t wifew @t oG

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 13 g Tz & R, =, fhan ofe % SrguR 15 ulad 72t 80T, 3 Pea 87

A fopan

B kg
C IRS
D oy

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 14 =i @1 gt Iuafsr & It F37 &1 vad Yfd et 3-
A TIRD! GRT YIS T BT

B TR §RT 3% MR S
c IR 1&g FEr
D SUARTES TRI&0 FH

Correct Ans : A
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

2/44
Page - 2



Q.No: 15 IUIRIAF FRI&01 B Twaa gem: AR v 32

A FARISH & PR P TGl TgaH I
B T P THS-UPRE YEHH T

c =l P U FfeA! Bt gt T W
D w1 UeaH W

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& A o e TN B ugE} I M U & Fa9 Sfud SR ad faded H1 99 Sifeig-

Tg arad H 31yd 31 RIwg § 5 57 o R SRl & g SR arel S dvaan 3 'Y, 3 dvaan et 7 A€ ged | S guRt eI, i 3t Aransh a1 Fmior 5% 3% TRy g ISR 3 S1a ©
WPla- A F AR =l & Al faem & e ok gfunt Iufya F3d gu S favqga TuR o1 X1 T4 31 & & et 2, Rl a8 o offaT 3 amwiera & sigHa X [ SR 99 S &F-fady & @y

75 Hevayyl e dar & Rl Ry Wi A emftm duw R ok Riva afa 9@ aff gane &0 3 duifed o 9@, Wy v 78 § 5 39 aeH sweiie & diva afdd el 3 o g odl-Redt afpar
I8 off URdIg TP & SfUR R g U €, W1 § S0 uiiad & orll § 39 $acd 31 o/ 31 Yo *ff i v o wad g1

P Rt of 3t SegRaedr Tzl o arel W B RO R $F A GBI e R0 F SR 37 AfFent sreardt HRf qur I Sfiad o1 deg S aIferdl S Siax SR MR Y A e it §, s ofam
U1 F IAPT A 3T SMaRAHd Bt 3R T Srr, et gfd R 37 Aam o1 ufys fuik 31 omm wrfie i & waen s 91ftul g5 Iumt § o ged o9t ot 31

Q.No: 16 IuHa TN & ER, YRd § Rifér afyarel #t Gem fea 82

A uRa # Rty afgarelt @1 ¥em 50 F90S 81

B yRa § Rifyya afgeret 1 dem Sufmt w i o1 gad 7, srufa sga oifis 31
c SRIUAT 2011 % SFER HRa § @t Afteny Rl 21

D yRa § Rifdra Afgerel @t dem Juferdi w v o1 et 8, srufd sga wa 21

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= A o e i B ugeR gy T U & Tad S SR i faded &1 99 Sifeig-

Ig IR 7 31y o1 fawg § fF 7 orue WyR 1l & R w37 arel 7 S dvaar 3@ g, 39 drean Rt ¥ T ged) S gaRt aifveral, 1fw 3t avared 1 Fmfon S S0 o s SRiF B sia ¢
WHII-FAY F orguR fft & AR faera & e iR gfaent JuRyd Fd gu S faigd YR &1 Q01 I9 S0 &1 & e 3, R a8 o Sl # arvery 71 sigHd 3R b SR 99 o 4-fad & ary

Ig Agwaqul o a8 § R frdt ARy depfa @ sHftm duw i ok Rifve it ad sl gore 9 9 Juifd o) 9@, g vy 98 § @ 39 7o Swaidd ¥ 9vg afd ol 9 g s gel-Red) afker
I 2t URdg Wl & SR Rifdamt 9ga o1 €, o € 9% siad & o)l & 39 Sda 3 o &1 vaw o i g o wwa 21

Fo Rt of ot Iegaad gagh o ardt Waadl & SRR $ 307 I 10 DDV & SR 37 AfFany s S1f a1 I S T a5 I aIierdl & sfag 3R 3FRR ot 2P I & @it €, s i
U F IAPT M 37 NGRAHAT F 3R 7T e, ot gid R 37 Jae o1 uigs Rk 31 oo wrifoies SR & THei ST 91feul I8 TA 7 3o Ued a5t &l 31

Q.No: 17 IRfad TRIi™ & SNR, it & TR RieTa & e iR g Iufd S U 99 faRgd SuR &1 91 79 S & & e 81
A Y-k F SrER

B - & SIgER

C Tpfa-Rly & srgEr

D Axr-fadly, gro-fatly quT SRRy & SR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
A i AT U TR B ugd} U U Ul & 99 Sfud SR a1 fadmed &1 99 Sifeie-

Ig Irad H o &7 fawg § 5 g9 oy WeRwr 1l & g 37 arel & S dvaar 3@ g, 3 divar Rigrest T ged) S gt eifeetedl, yfaw @t ararell 1 o $3 3% 0 g IR B sem ¢
TP F ofguR fFeft & o faera F anem iR faut Iufyd Fvd gU SN faRgd TUR &1 391 39 1 &1 8 e B, R ag o Sfie & Anior 7 sigyd ) & iR S8 o &F-fady & wry

Ig Hewqyl o/ T 781 § Ford fonxt faRiy Sepfa & emfm Iua o oiR Rifda afva arar cafd g U 3 9uifid R 9%, Wg U9 I8 § 1% 39 7o SWaIid & Iy Afed $ef 9 A sit? gel-ford! afge
I 2 IR TGPl & SFTUR RifaT agd T €, N & 3% oilad & 95 | 30 Sdor 3 gl 1 vaw oft s gwen o %@ 31

F7 it 7 $t IEaa guh 917 arel Wdad F SR SR G oA Y1l R0 & SR 37 ol srene HrRi gt I Sfiad $T ded S diferdl B ofaq ok SR Bt 2 § @A it §, ora: iR
801 B DT A I IRAB] I AR ¥ e, Rt gfef w37t W a1 ufds ek 31 o I @il &) g S 91k a8 TEe o g 9el

Q.No: 18 I TRIIY & (¥R, 3« YA & Y 91 FHl & 32

A WHlA-faR9 & SR 7 9a uFIl
B SO WIS S I W ST =1eql
c -t niReel F Fer TEa A AT A R
D T & U SRpiodt B U T g S
Correct Ans : B
Subject : Hindi Bhasha 01
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Passage:
= R o T TS Bl vedR g e uRAl & 9ed Ifd SaR aKd fadwed o1 99 Fifon-

Ig arda § ofief 7 fawg § 6 0 oruey AeRur Hrif & faw 3 arcll # S dvaan a8, 3t draan et & 76 geal S g enfretalt, wiass @t arareht &1 fmior S8 3% ufd AR SERIAT S s1em ©
Tpia-fady & SguR 5l & TR faer & T 3R gt SufRid Fed §U 39 fawgd 9OR 31 U9 I X o g1 g 8, TS 98 o Siiad § Ao &7 SigHa 3 9 3R 99 o0 aF-faRy &

Ig Hewaqul S U e € R e R Sepfa & emfim ua o ik Ry =fer 4 <afd e w0 § Guifed o) 0, W Uy I8 § 6 59 1o SwReiia & 4y wfed Sel & a1 s udl-Rerdt Afgar
I W IR Tl F SFTER Riféait agd w0 €, W € 3% Silaq & 9 A 50 wdor 31 gl &1 vaw oft s awen o 9% 21

Fo Rt o o Ixg@ad TH M ardil TWaadl & PRUT SR TS 30 IHIU VDIV F SR 37 ARG ST PR 7T I SHa HT AT FAH AR BT AT IR SRR 1 €Y F <@ @l §, 31 g
&1 F DT M 39 MR B 3R LT S, st gid R 36t Gar & ufigsr fR 21 eon smifve el & wae S ity a8 Tamt & S ged gt St 21

Q.No: 19 Fmfafed & I fw ug o1 wam Iwdad e & 7 fawar man &2

A Teplo-fasiy
B -y
c I-faky

D RrAREERL

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
= i o T TR BT UgaR I T WAl & HeY 3fUd SaR aK [adbed Bl 997 Siferg-

Ig aRaa § snef 7 v § 6 39 oy reRur Hril ¥ faw v aral it dvan e 8, 3R dvwar Rieret & T gedl S A eiferetsll, widsy @t ararsh o1 it w8 3 ufd AR SR 1 siem
Hepla-fady & oraR il & TRl faer & a1um ofR gfeurd IufRia wvd g I fawgd TOR &1 U9 I 0 & gt e B, e 98 o siias & ARy &7 SiHa 3 9 3R 99 o aF-faky & ary

Ig Aeaqyl w1 T 92 § o it faRkiy xpfa & omfm et o ofR Ry afta a1a aafda gore U 3 Juifed a7 %, Wg Y I8 § % 30 7o SWalid & 9y Afed $ef § ang sit? uel-ford) afger
I o IR ST & SFTOR A agd &0 €, N & I Siiaq & O ¥ 30 Hdor 3t ol &1 vaw oft At g o e g

Fo Rt o @t Ies@ad THsh o9 ardl WAl $ FRO SR FB 30 I 10l ZRBI0 F SR g Ay oA SR a1 I SN ST aeg I qIferdl T Sfagr SR SRR ot 2R F oA @l €, or: sita
U1 F DT M 39 SMaRAbdl Bt AR 7T S, Rt gfd w 37 Yo o1 ufdsy ek B1 SR wmaiie i &) waen 1 @it g 9wt 7 S ged a9l Bl R

Q.No: 20 w1 & Q HH-u1 g Iuwf T Wit FR ] T B2

A waEdr

B siee G
c PRI
D SHTIaHA

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

P AR few U T B ueHR U@ T A & T8 3R IR art fadwed 31 9ue ifig-

Ig arda § ofierf 7 fawg § 5 9 o AruRul SRl & fw 3 ardll # S divaa S ¥, 3 draan et F 76 geal S g afretalt, wiass @t arareht &1 i S8 3% ufd AR SR ST s1em ©
WHI-RR F oFFuR feht & wRre e & e ok giaumt Iufkd Fd U SN fargd TOR &1 91 39 S0 &1 & e B, R o oo Sie & Aniory &7 9fgqd % & iR S8 o 4-fady & wny

Ig Agwyyl o T T2 € R f ol SRpfa § omftm duw o ok Riftar afta a1a oafd g 9§ Juifed o) 9%, Wg 99 I8 % 5 30 7o StRalda & 9ng e Sl 9 ang it udl-ford afger
T W R el & SR Rifdril 9gd B9 €, W § I Siiad & DT A 59 wdoy 31 o1 &1 yaw ot g wHen o 9ed 21

Fo Rk 7 31 IsgEad THei S il TWaadl & PRUT SR FS 30 IHIU DIV F SR 37 AGANE AT S 7T I SHa $T 067 T qIferdl BT Sfaq SR SRR Bi 2P I <@ @l §, 31 g
801 B AT M I ATIRAB] BT AR T e, Ryt gff w 371 dam &1 ufas ek 31 o s il & g S 91T g8 TEe o g 98t 3

Q.No: 21 = & q smfm &1 orf & 32

A S ot a1 Y ST B

B St ot a1 Y 71 S Y
C S @ S W

D e T SRR S gAY

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A A fw 7T Ty B ugHR g T U & Hed Sfd SaR ardt fawed &1 9u Sifer-

Ig arad H o &1 fawg § & 59 o WeRY 1l & faw 37 arel & S draan 3w g, i dvgar Rigest § 7 gea) S gt aifvetal, vfaw @t ararel o1 o S8 9% 9 7R IR 1 sie ¢
TFA-fRY F orgaR fFeht & wfe faera & aner iR gfaumt Iufd S 3T 99 fagd SOR &1 91 99 S &1 81 e B, RO a5 oo Sfie o Ariery 37 SigHd X 9 SR S9 ot a-fady & wny

Ig Heayyt o T e € R o ol el & omfim < o oIk e ot o <afda are w0 4 Jfed 9 06, W Uy 08 € & 39 7o SWalda & 4ry wfdd $ef I A s udi-fordt Afge
IR o IR GepTa F SFTOR RfE 9gd 70 €, N & I Siia & ol ¥ 30 wdor 3t o &1 vaw oft s gwen o g 1

Fo Rifde o 3t IesEad JHeh 9 ardl Waadl F SR SR FB o0 I 1ol RPN & SR g Afgad st H1f a1 I N $T aeg I qferdl Y ofagr R SRR Bt 2R F S @l €, or: Sita
801 ST A U SMIRAGd] BT 3R TeT e, Bt gfef w 371 dam @1 vfaw ek 31 o s il &) aaen s 91k a5 The o ged 991 S |1

P ¥ D =D o o e o
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Q No: 22 181 H X PRI XSG Ik 1Y DL XIBT SQIRRVI B¢

A TR
B AR
c T
D frmrerg

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

fdr: A2 fow e iy Bt ugeR g T U & 999 3fid SeR a fased @1 9 Fife-

Ig ada § e &1 vy § & g o wiuRl il & g wx ardl # i dvan S g, A avaan et # 6 geal S gt aifietall, wiasy @t aransht &1 fAmi S8 39 ufd e SariiFn 1 s1em ©
WA F oUR el & wRre faera & a1er iR et Iufyd Fd gu S faRgd TR &1 ¥4 79 &1 &1 & e B, s o o Sfie & Anior o7 9fgyd R & iR 99 o 4-fadw & ary

Ig Tew@yul Hf Y1 T § R ) faRy Tepfa @ emftm daa fa ok RifYa afts 9 afta g wu 3 Suifed ox 9, wg Uy 9% § & 39 9eM Swelia & 99 afdy $gf 3 o oi? ud)-frd) afgar

I ot YRdg Wl & SR Rkt 9ga o1 €, o € 9% silad & o)l ¥ 39 Fda 31 grn a1 yaw o i e o s 1

Fo it o 3 Iaaa 9=l 1 Il W $ SR $R Fo o Il BP0 & SR 37 Afeat sreara BRI a1 I Slia BT A6 S diferd] B ofaq SR AR &1 2P § & @il €, ora: sl

U F ITHT M 39 HaRAHdl Bt 3R LT o, ot gfd W St Aar &1 4fiysy Fiik B1 o wmifores < & wHei ST 91Ul a8 T9T 7 3o 9ad 91 &t 31

Q.No: 23 i # § aiof- faefiof o U g & |
A warrff wreg

B [ERE R

C wafaarE

D yfeemmmie T

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

FIE: T B Tga g MY U & T ST IR 9 fawed &1 9o Fifne-
T3 7d § foog TRt @

% graT, gh o 1 g A g
&9 Tl F, 98 AU § 4

? U9 gy, < Jodl & [

& ol 7 A Rk e 9,
Yyl 3 fad § a8 e 31 el
3 TrT-afe 9 & Il gawd,
TR 11, gA 2N & o HEan il
&, o 9¢ B, I w7

- B T 78 G 20
3ol 3 ol @ T8 Ul 8l
4 YU 1 i afe 98 Tt B
3 A o1 ? O gu § —

& O & TRA P IS gEDB?
- o o, A R S,
T a8 Il Bl T ST gD

Q.No: 24 = ® § Iugad Ufdadi & JTRia1 &I A1 Farse-

A e
B WRAFR g

c P YT

D 3w Wad

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

T BT P UgHR Y T UL F G99 I IR I fhed BT 79T BIm-
T3 § g v & i

I8 giaT, Qi o @ gl 7 g

BH TS B, 9 Ul § e
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® T ged, < Sodr & Tl

3 ot g3 are iR e A,
et ¥ fod & 98 SR 3 sareil
B ArT-afRA A F Iud g,
R i, gl of § 3o Heanr il
g, A 9¢ T, T TG B
- P 6T a8 B 3
it 3 e @ 7 Ut B
St 01 I TR e 7R T R
1A A Wi ? T G § —

&5 AT & SRE B A gED?
- T < &, S SR g
T T8 A R e g

Q.No: 25 = & J 5w reg o1 wanT Iudaet vkl & =T fawar man 22

A Exil
B Sl
c EaSiGI
D e

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=T B B UGN Y T U & a9 3T IR a1 fawed o1 9a9 sifvig-
3 T ¢ foorg T LA

g g, &= o o i A @ e
T HI A, 98 AU @ e

§ T ged, << I § &

7 ot 43 I1E foriRk e &,
et § fod & 98 SR @ saran
2 e A & S g,
el g, A +ff ¥ $© Harn?il
3, 5g T, T U R

W- P TG a8 Bl Bl
3T T AR B T8 TUPS! B
U0 T A} i W@ TH 31|
R 8 o 2 O g § —

& AT & TRE P A1 I
- 0 ot &, T R B S,
KN 7 IR N R o gER

Q.No: 26 IUHe UK & IHFER FuT 1 3 TT 32

A et
B LI
C E24

D WER

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
R BT BT UG Y T T & FaY IR IR a1 faded 1 9a7 Siforg-
T3 74 3 g T §
g BiaT, i o @ gl 7 e
B TS A, 9 QU § el
% urw ged, << o 8 g
8 ot g3 Tre Rk e Y,
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 6/44
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4t § e 7 98 Siex 31 saran
& mrar-afeT A % I g,
Fe g, gl 4t @ $O FuEmr 1|
2, 0 5 T, T o R

- B TE T8 Tl ol
st & Wit @ 7% Ul B
i T T AR SfeT ae | 311
319 8 o ? O Yol § —

% AT & %A B § A gADI?
- @ o0t &, 3 TR R
RN Tg I B 01T gASN

Q.No: 27 Iwdad T A U YH-W B T 48 Sl 81, 3ol 2 g B 78 gub 1 A Q frud el A 3t 7 2

A TII-96 & Horg R & e F gl A
B HE-5 & Tolgd RO & o7 & g
C oR-welt & oy R & duF & wed
b o -3 wrere R B s B el

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

P& FToa 3 UgaR Y T U & Wed Id IaR I fAdbed 1 997 -
73 7 @ foog et @ e

g oaT, gei o @ gl T e
BH HIT A1, 98 U § 47

& raa geg, << I § Gl

2 o 1 Tre iR e Y,

U § i o 95 Siiex 31 saml
§ OIS A & 9P g,
FE WS, gEe N } IO T
2, & 93 Ty, T ad R

- B 6T T8 Dol gl
3fft 3 e @1 TE BUP B

T v ) AR s g T R
IR TS ? O YO § —

% AT & %A BT § I qHDI?
- @ 70 =1, 39 TRE R
TR a8 A B Y AT gABI

Q.No: 28 Iufad Ufekrdl ¥ Us e foh Ak W oiun I &1 918 IR 6 82
A Tl & SR |

B urac & AR |
[ Teifd & SfawR |
D I F TR T

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
AR FIA PT GgaR U MY WAl & Yo IfId IR ald faded &l 997 Sifo-

T3 7 ¢ foog et B 3

g iaT, W=i o @ gkl T e
T W TG, 98 a9 § o7

3 Urd gy, < Sodl & &

3 3t g3 e Rk e 3,
el © e # g Siex @ samen|
& HiaI-sfe A & IS A,
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51 i, gl of § o T
8, S 5¢ T, T U R
Rm-W B T a8 F 2l
areft ¥ i @ 7g TuwE B
4 YT 1 AR SfeT U8 T B |
U 2 T OB E —

& AT & SRA 3 & IS gEDI?
- @ a<t , T A R
A T8 I B T AT gHB |

Q.No: 29 frmfifed & & Arar-far # gl
A oy o

B qGeY I

C ST T

D g 9™

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

=1 S B UG Y T U & Ja9 3T IR ard fased 1 9ue sifeie-
3 7 § foeg Wt ¥ 6

I8 T, g o . Bl A e
T W 7, 9 e § e

2 9199 gy, &< Sodl ¢ Gl

§ ol T A ok e @,
4Pl ¢ o & 98 SR 31 warnl
? mrar-alea A & S9! g,
el U, A1 1 § O a1l
&, o 5¢ g1y, W ST R

- B T8 78 20
35T 2 AR B T8 BuFSl B
34 9T 1 A Wi a8 Tt 2|
U ? T B E —

{5 71T & GRE B § A gHESI?
- A < T, T A B
A T I B 301 GHBN |

Q.No: 30 TRTaRT “HTHIY-UTTe U A" T (e § & 7w of &2

A ST TRIT T HA1|

B SR O SRIAT URHH FIAT
C TS BT SATHT BT

D et € S

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 31 YWhat should come in place of the question mark (?) in the following question?
2466873 75 105 N
=X—+7=?
157 12

Frafefad wer § wears g (?) & WM W@ 7 AiRe?

Zyi®.7=9
15 12
6
A
6
B 7
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 8/44
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8
C

8

a4
D

4

Correct Ans : A

Subject : Mathematics

Q.No: 32 The sum of the smallest four-digit number and the largest three-digit number is:

2467083
TR (6T Pt A SIS IS SR A i T ol I1 WS P A 3:
1999
A
1999
1989
B
1989
1900
c
1900
1909
D
1909

Correct Ans : A

Subject : Mathematics

Q.No: 33 . 2511 7.,
2467190 The greatest fraction among 3515 ¢ nd s is:
25 11 7
3’8’ 1s ﬁgﬁmﬁm%
7
8
A
7
8
1
15
B
11
15
5
6
C
5
6
2
3
D
2
3

Correct Ans : A

Subject : Mathematics

Q.No: 34 The ratio of the present ages of a boy and a girl is 4 : 5. 4 years back the boy was 24 years old. What will be the age of the girl after 5 years later?
2467256

TH TSP AR TP TSHI Dt A 1 FT UM 4 : 5T 4 T Ugel ASH 24 IY BT 11 5 T q1G ASH I AR R gRil?

A 39 years
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39 7f

40 years
B

40 9§

32 years
C

329

35 years
D

35 9

Correct Ans : B

Subject : Mathematics

Q.No: 35 Rs.100 is divided in the ratio of 2 : 3 between Monu and Sonu. Find the share of Monu and Sonu.

2467419

100 U3 I A 3R O & &9 2 : 3 & agurd & aier a1 71 1 3R W 1 e 31a Ffom

20, 30
A

20, 30

40, 20
B

40, 20

60, 30
c

60, 30

40, 60
D

40, 60

Correct Ans : D

Subject : Mathematics

Q.No: 36 In an Electronic shop, there are 220 yellow bulbs and 320 Red bulbs. What is the ratio of Red and Yellow bulbs?

2467421

TP gAaEiNE gHH # 220 N g $R 320 WA ged g1 A 3R A Feal HT U R 82

22:16
A

22:16

16:22
B

16 : 22

16: 11
c

16: 11

9:16
D

9:16

Correct Ans : C

Subject : Mathematics

Q.No: 37 | hectare =..........ccccee..... cm?
2467541
1T = i’
108
A
108
B 108
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108

10*
C

10*

10°
D

108

Correct Ans : B

Subject : Mathematics

Q.No: 38  Given the equation 25x% + 1075x + 25 = 0, then which of the following statements is/are true?
2467816 1 Tp, equation has imaginary roots.

I1.The roots are reciprocal of each other.

II1.The sum of the roots is less than the square of the product of the roots.

TR 25%7 + 1075 + 25 = 0 fean T 8, ot Fraffd & 9§ #1 WA 47 94 878°
1. TR0 & SIS qa gl

1L 73 U g & URRURS B

LT T TN @t & UG & a1 § FA 7

Ionly

Faa 1

II only

Faq 11
II and III only

Paq I AR II

III only

Fad 111

Correct Ans : C

Subject : Mathematics

%1'\1607:83895 What should come in place of the question mark (?) in the following question?
8x4+ax4s _,

8+4

fAraforiaa aed & weddaraes feg (7) & TATT U 4T 3T Alfge?

8x4+axa
8+4 '
4
A
B
8
12
Cc
12
24
D
24

Correct Ans : A

Subject : Mathematics

Q.No: 40 = : .
2467962 V8464 is equal tox
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/8464 B W o

92
A

92

65
B

65

64
C

64

62
D

62

Correct Ans : A

Subject : Mathematics

Q.No: 41 Find an angle that is supplement of itself.

2468068

TS T DI 1 ST S @ B AGD gl

45°
A

45°

90°
B

90°

180°
c

180°

100°
D

100°

Correct Ans : B

Subject : Mathematics

Q.No: 42 Express 2187 as a power of 3.
2468234

2187 I 3 B Uld & ®U & ad B

36
A

34

37
B

31‘

38
Cc

38

39
D

39

Correct Ans : B

Subject : Mathematics

Q.No: 43 The solution of equation 5x + 5 = -20 is?
2468353

TR 5% + 5 = -20 FT 5 82
A 5
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10
B

10

-5
C

-5

9
D

9

Correct Ans : C

Subject : Mathematics

QNo: 44

5460994 P —6—4p’Tpisa__ polynomial.

P-6-4pi~p U E@J’q’%l

quartic
A

Rt

quadratic
B

fgema

cubic
[

i

constant
D

R

Correct Ans : C

Subject : Mathematics

Q.No: 45 Abacus does not help a class second student to:

2475384
SHIHY gAY e S B Bl HEG o1 Pl 8+
attain perfection in counting
A firreht # RS wia o & g
write the numeral equivalent of numbers given in words
B et B <€ T el & wHged o0 fred §
understand the significance of place value
c R A & Wed $ gag §

read the numbers without errrors

e IR 3 R SETel P T &
Correct Ans : B
Subject : Mathematics

Q.No: 46 Direction to the activities are provided by

2475581
2 T BRI for=m veH Y 9k §
Aim
o wE
B Objectives
c Knowledge
FiG
Target
b L

Correct Ans : B

Subject : Mathematics
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Q.No: 47 Which one is more essential in the development of responsibility in pupil?

2475606
foenfifal & SwRariia & faere & R $1 w1 sifie sawas g2
A Home Work
B Oral Work
MEs Hr
c Self Study
w4 ey
D Drill Work

Correct Ans : C

Subject : Mathematics

Q.No: 48  One will have more chances of being successful as a teacher, if

2481447
e ¥ w0 F 9w R 3 FuE ot BRf, afk
He belongs to the family of teachers
A 7% Rt > v 3 e 8
He is trained in teaching
y e Fgor 2 R &
He has ethical values and a good character
¢ IGF TN AP I SR U o T §
He can organize his teaching material systematically and convey the same effect.
D

T8 T Rieor YR 1 ST T Hafd B3 IHd1 ¢ R 39 T € F TR B I v

Correct Ans : D

Subject : Mathematics

Q.No: 49  In order to improve work habits of learning disabled, what should be done?

2astzor R1aRoRT Bt B Sfedl B YR A & fong a4 faar o T
Unattending behaviour should be penalized
A TIRATE HGER $I <fea famar & =1fey
No monitoring of the behaviour is needed
® TR ) R @ s T &
No cues and prompt should be given
c i < e feon e e ey
Demotivation
° RefRe B o1 T

Correct Ans : A

Subject : Mathematics

Q.No: 50  Which teaching technique is not suitable for primary stage?

2481714
P W e qoie Wt TR & fu Sugw & &2
A Symposmm
B Explanation
et
c Drill
D Questioning
gBds

Correct Ans : A

Subject : Mathematics

Q.No: 51 what do you understand by Hypothesis'?

2481790
R § ST T FHRA & ?
People’s attempt to answer a question or solve a problem
A ot o &7 SR &7 1 TRt o @1 g R T ANl T TN
Selective control
° TS g
Ex-post facto experiment
¢ R T
D Experimeqtal research
SIHYH

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

14/44
Page - 14



Correct Ans : A

Subject : Mathematics

Q.No: 52 The sum of 72 and 172 subtracted from the sum of 468 and 168 is

2481881
468 3R 168 F AN H F 72 IR 172 T AT ger Srdm §, o T el B
244
A
244
236
B
236
392
c
392
636
b 636

Correct Ans : C

Subject : Mathematics

Q.No: 53  1dentify the open-ended problem.

Parikshit makes a cuboid of dimension 5 cm, 2 cm, 5 cm. How many such cuboids are required to form a cube?

2482357
-GS I H TgaH I
Write any 5 numbers whose cube is more than 64.
A
i 5 gt i RFeT T 64 ¥ ot B
Find the cube of 10.
® 10 &1 9 1 il
Find the cube-root of 512 using prime factorization method.
¢ ST TS fafY gRT 512 &1 oige 91d Sl
D

Tt 5 3, 2 Jefl, 5 Jeft famralt 1 T BT ST §1 U T S & o ¥ Rran wenil Y anavaesan gvf?

Correct Ans : A

Subject : Mathematics

Q.No: 54 Which of the following is the last step in the process of evaluation?

2482407
frafafad & & S geaied 31 Ufear o1 sifad o g2
A Interpretation
areAm
Defining the objective
B
IexT B! IR S
c Generalization
AR
D Feedback

Correct Ans : D

Subject : Mathematics

Q.No: 55 What are the two categories of objectives from teaching mathematics?

2482440
TIfr Rieor & It 31 &1 Afvrt BE- §2
Educational, teaching
A e, g
learning, interacting
? e, wrid S
long term, short term
c < o, oreaty
D meaningful, meaningless.

4
Correct Ans : A

Subject : Mathematics

Q.No: 56 Which of the following statement is true?
2482642 <12
12512 §s even.

II. 147 is even.
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AT & § Sl g 2
12512 99 gl
IL 14799 g
Only II
A Pad 11

Only I
Fad I

c Neither I nor I1
FATARTR I

Both I and II

b 1 3R 11 T
Correct Ans : A

Subject : Mathematics

Q.No: 57 which of the following practice will help the learners to grasp geometry at primary level?

2482699
Frafafed § & F-a1 snar wfie 'R W e o sfifa S awee 7 Semd s
Learning about shapes only
A
Faa ngpfodt & e sftrm
Learning about basic definitions in Geometry
° i 7 g aRoal & e ot
Let the learner learn while exploring according to him
¢ el @ e g Wi A g e
D Identification of shapes but not definition
B UgEIH BT

Correct Ans : C

Subject : Mathematics

Q.No: 58 When the aim of testing is to compare the classes ,then use is made of

2asaraz S TRIE0T BT I HEMA B Je HRAT Gl §, TS IJUART faT S §
Teacher-made test
. e~ e
Diagnostic test
° Aare wleror
Standardized test
¢ TFPIPA TR
D Aptitude test
Hfrefy whien

Correct Ans : C

Subject : Mathematics

Q.No: 59 By looking unclear pictures on cards in TAT of personality the examinee has to make-

2482808
Hfdaa F A § PIS W 3RUE o T@HR Tl 31 71 3l 3-
A Play
B Story
c Booklet
D All of the above

SR F g
Correct Ans : B

Subject : Mathematics

Q.No: 60 A certain distance is covered at a certain speed. If half of this distance is covered in double the time, what is the ratio of the two speeds ?

2483816 T AR ol T Rl TR Y S B T 21 AR 59 g @1 e R g wHa B SR Rear o 8, @1 S TR 1 ST a9 @
Ao
-
¢ 3
S

Correct Ans : D

Subject : Mathematics
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Q.No: 61 The causative agent for 'little leaf' disease in brinjal is:

2469586
& H B Rk B IRS IR 3
Virus
A
ey
Bacteria
B
htarg
Fungus
Cc
R
Phytoplasma
D

TSI

Correct Ans : C

Subject : Environmental Study

Q.No: 62 Which problem arose due to the lack of nutrient element in food?

2470079
o # UIve @ @1 PHI B PRI B A G Bl 97
Malnutrition
A
o
Starvation
B
N
Salinity
C
GRUH
Acidity
D
ST

Correct Ans : A

Subject : Environmental Study

Q.No: 63 The first state in India to regulate the manufacture and use of plastics is

2470214

e & Fmfor sk Iwdi &1 fafafia (afia) @3 aren yRa &1 uga I §-

Andhra Pradesh
A

ST ST

Madhya Pradesh
B

ey UeR

Himachal Pradesh
Cc

[EIEERER

Uttar Pradesh
D

SR W
Correct Ans : C

Subject : Environmental Study

Q.No: 64 On the basis of pollutant their are two sources of water pollution what are they?
2472054

Weu® & SATYR TR S WgHU F 3l Wid 8, 3 8-
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Primary sources and secondary sources

A
W wd R s wWia
Temporary sources and permanent sources
B
T Wi SR areTs Wi
Rural sources and urban sources
C
o @i 3R el W
Point source and non-point sources
D

fig Wi SR ¥R fig Wi
Correct Ans : D

Subject : Environmental Study

Q.No: 65 Most of the Indian Peninsula will be grouped according to Koeppen’s system under:

2472208
ST MR ST T ) FTEh S SAR Wi fea STE
Af

A
3HF
BSh

B
Ll
Cfb

C
ot
Am

D
3qH

Correct Ans : D

Subject : Environmental Study

Q.No: 66 The grasslands which is consist of patches on hillslopes along with the Shola forests on the

2472532
Western Ghats, Nilgiri and Annamalai ranges is known as?
°rd & e off i ure, A SR semers gddare IR 2ie aHi & wr-a
TRl R U A w9 §, 0 HEand @2
Shola grasslands
A
et ard & B
Terai grasslands
B
WIE U & AaH
Sal grasslands
Cc
I o & g
Timber
D
TR THY

Correct Ans : A

Subject : Environmental Study

Q.No: 67 Who of the following classified the function of family into essential and non-essential
2472561

5 7 § f5ua uRaR & S &) saxas 9k R-siawas # arffed fovar

A Durkheim
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g

Lundberg
B

goart

Maciver
C

ApTR

Ginsberg
D

foranf

Correct Ans : C

Subject : Environmental Study

Q.No: 68 Vitamin with anticancer properties is

2472711
R AN O A ferft -
Vitamin U
A
faefm u
Vitamin B17
B
e B17
Vitamin B15
C
fderfé B15
Vitamin A
D
faerfem A

Correct Ans : B

Subject : Environmental Study

Q.No: 69 The process of curd production from milk is known as
2472974

7o 9 gl S B ufthar W ot @

Fermentation

RARRM (GHRIERUT)

Photosynthesis

VBT AT

Distillation

SIGT

Sterilization

TRERREA

Correct Ans : A

Subject : Environmental Study

Q.No: 70 which of the following ways is not a safe way to defrost raw meat?
2473017

fafifad & & o 91 dlie T A1 1 SPRE B BT T RST el 82

In the refrigerator

e &

On the counter

FNRH
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C In the microwave

AEHad §

None of the given options

faw g famedt & 4 P T

Correct Ans : B

Subject : Environmental Study

Q.No: 71  Which will be the first indigenous human mission developed by ISRO?
2473999

TR gR ApRra gen et o e S @ dm

Gaganyaan
A
RINEDIC]
Mangalgrah
B
HTerEt
Shukra
C
T
Antriksh
D
SfaRal

Correct Ans : A

Subject : Environmental Study

Q.No: 72 Which of the following weeks is observed as World Space Week?
2474177

Fofafad 7 & forg gware $1 fay siafke g & EU H =1 oI 872
October 4 - 10

A
I 4 - 10
November 6 - 12
B
TR 6 - 12
December 12 - 18
C
foeR 12 - 18
January1-7
D
a1 -7

Correct Ans : A

Subject : Environmental Study

Q.No: 73 Which of the following options combine all the types of full moons?
2474216

fafefad § 3 $19-3 T=m gftfar & =fe & @R 82

Supermoon, blood moon, blue moon, harvest moon

A

R, =S T, = 7, T

Half moon, lunar moon, blue moon, harvest moon
B

P G, TR, S, e

Supermoon, blood moon, pink moon, crop moon
C

e, TS 1, fi o, i
D Half moon, supermoon, pink moon, lunar moon
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B 7, GO, e o, R
Correct Ans : A

Subject : Environmental Study

Q.No: 74 In which year did the USA launch their first satellite?
2474263

T 5T SARDT = AT ugan SuUg 6w ay af fosar ure

1968
A

1968

1958
B

1958

1951
c

1951

1960
D

1960

Correct Ans : B

Subject : Environmental Study

Q.No: 75 What if the following soil is formed from the weathering of volcanic materials?

2475680
ol & 3 oW W@ it Srangd ared ¥ smem J Tl 82
Gelisols
A
Sifere"
histosols
B
[t
Andisols
(o}
R
spodosols
D
SN

Correct Ans : C

Subject : Environmental Study

Q.No: 76  Which of the following soils has high salt content?
2475696

Frafared # § g gt & 70 @t Aen s il 32

Saline soil
A

and fagt

Desert soil
B

vt fargt

Black soil
Cc

et fogt

Alluvial soil
D

g fgt

Correct Ans : A

Subject : Environmental Study
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Q.No: 77 Which of the following are the fresh water resources?
2475726

frofafad & § FH-91 W o TUeE g2

Rivers

cil

Oceans

Seas

Pools

«
Correct Ans : A

Subject : Environmental Study

Q.No: 78 Which of the following is not a man made lake?
2475742

el & & o 9@ Ame Hfa sha 78 &
Bhojtal Lake

Aisrare gt

Jaisamand lake

e g
Hirakud lake

TIPS

Dal lake

ESEIG]

Correct Ans : D

Subject : Environmental Study

Q.No: 79 Which of the following is a simple tool which is used for removing weeds and for loosening the soil?

Frafafed & & o1 O 0@ Wd IuH ¢ FRFPT ST TXUaaR ger 3R gl 1 el & & fau fpan s g2

2475853

Plough
A

'

Hoe
B

Pl

Cultivator
C

Feeidex

Leveller
D

e

Correct Ans : B

Subject : Environmental Study

Q.No: 80 Which cricketer holds the record of hitting the longest six in history of IPL?

2476553

gdiea F 3ioera ¥ a9 da1 TSI I BT RPis e fbhex & =1 82
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A Albie Morkel

Tedlt Hibe

Chris Gayle
B

EZKIC]

Adam Gilchrist
C

T fiafree

Yuvraj Singh
D

I Rig
Correct Ans : A

Subject : Environmental Study

Q.No: 81 Who was the champion of the ISL 2020-21?

2476556
SMTETHT 2020-21 1 AT B o1?
ATK Mohun Bagan
A
T HigT A
Kerala Blasters
B
R R
Mumbai City FC
(o
Hag R Tt
Goa FC
D
i gt

Correct Ans : C

Subject : Environmental Study

Q.No: 82 Learning by the way of observation method, the students can learn the:

2477172
(i) Similarities of the objects

(ii) Dissimilarities of the objects

3l fafYl & wrem § B W A@d §:
(i) Tygelt & gArEar
(i) agell BT SEAMAT

(ii) only
(i) Paa
(i) only

(i) Fad
Both (i) and (ii)

2HI (i) @R (ii)

Neither i) nor ii)

adri) dRA i)
Correct Ans : C

Subject : Environmental Study

Q.No: 83 Which of the following is not a stage of Discovery Method?
2477209

Frafefad # & S8 orwr Y & wor = 82
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A Identification of a problem

TN B UG ST

Experimentation and observation

B
it SR T F
Training
C
e
Evaluation
D
LI

Correct Ans : C

Subject : Environmental Study

Q.No: 84  Which of the following can be a place of visit for learning?
2477388
1.A walk around the school ground

2.A trip to a museum

Frafifad & & S a1 ST 3G yHO BRI D GHaT 82
1.%%d & HeM & IRT ofR gae

2.U% HUBIe™ B AT

only 1

Fad 1

only 2

Fad 2

both 1 and 2

g 1 3k 2

neither 1 nor 2

Ad1aRAd 2
Correct Ans : C

Subject : Environmental Study

Q.No: 85 Around which time of the year does the Ozone hole generally develop?
2477829

S 5% Smra: 99 & food aag | fasiid gar 32

December to February

A
foueR @ weadt
April to June
B
o § 5
Late August and early October
C
ST & 3fd SR SFEER B Toed
Late May to early July
D

o€ ¥ ofd I AT Y LIS qD
Correct Ans : C

Subject : Environmental Study

Q.No: 86 ICT can play a significant role in -
2478524

1.individual learning and teaching

2.group learning and teaching
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Choose the correct code -

SN2, Tl Tyt it P e & -
1.fkTd S SR Rieror
2R T R Remn

T T I -

Only 1

Fae 1

Only 2

Fad 2
Both 1 and 2

A1 ek 2

Neither 1 nor 2

@1 eiRAE2

Correct Ans : C

Subject : Environmental Study

Q.No: 87 Which of the following is NOT an advantage of using charts in class-room?

2478616
Frafifed & & SH-91 e § T¢ BT TN B4 B A T 92
It creates interest among students.
A
75 Bl & i of dar we §
These give the idea at a glance.
B
37w ToR ¥ Rrar an amfar wy W A &
No matter the size, charts are always clearly visible from any place of the class-room.
C
3R HIE 1 B, U1 B & freh ot i Y g Wy w0 Q R 39 ¥
Charts are thought-builders.
D

= far-fmfar §
Correct Ans : C

Subject : Environmental Study

Q.No: 88 In which year was the first news bulletin broadcast from All India Radio?

2478629

Sifer Sfear YA A uger THER gafe fg af waitva fvar mar are

1931
A

1931

1933
B

1933

1935
c

1935

1937
D

1937

Correct Ans : C

Subject : Environmental Study

Q.No: 89  Which of the following is NOT a restricted response type test-item?
2478644
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Fafifed & @ o9 @ nfaefia wfafsar TR @1 wdem-ug T8 87

State any two advantages of television in comparison to radio.

A

Y Ft gor F oA & B ) v S

Describe your feelings towards your pet animal in 50 words.
B

3O T SHaR & W gt UraTeT BT 50 gl F qui B

Describe the preparation of Carbon dioxide gas in the laboratory.
C

TR ¥ BT STgeiass T @t Jard &1 9 B

State the reasons of global warming in the space provided below
D

A= o 7T i B e aiftfn & SR A

Correct Ans : C

Subject : Environmental Study

Q.No: 90 The assessment wherein the purpose is focusing more on individual variations, needs and achievements is known as which of the following?

R 3iwe o1 IRy cafdnTd [Afearsl, srewdl iR Suafer w s @ Higa oo giar ¢, 39 Faiiiea 7 4 g &g A s o g2

2478741

Informal Assessment
A

SR e

Objective Assessment
B

TUR RS SHHa

Subjective Assessment
c

v ee

Criterion-referenced
D

=
Correct Ans : C

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds

'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the

Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —

The sliver, in the Lung —

The Bung out — of an Artery —

Are scarce accounted — Harms —

Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 91 What does the first stanza of the poem talk about?
A The terrors of the individual person

B The focus on being accomplished
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C The happiness lying in being self
D The people who think more and do less

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds

'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the

Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —

The sliver, in the Lung —

The Bung out — of an Artery —

Are scarce accounted — Harms —

Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 92 ‘Tis Terror as consummate’. What does the word ‘consummate’ mean in the given line of the poem?

A perfect

B slow

(ed horrifying
D evil

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds

'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the

Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —

The sliver, in the Lung —

The Bung out — of an Artery —

Are scarce accounted — Harms —

Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 93 What does the third stanza talk about in the given poem?

A mentality of a human being

B sadness in people’s life

C happiness in the form of moral duties
D

physical human body
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Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds

'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the

Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —

The sliver, in the Lung —

The Bung out — of an Artery —

Are scarce accounted — Harms —

Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 94 “Are scarce accounted’. Which of the following is opposite in meaning to the word ‘scarce’ in the given poem?

A rare

B limited
(o} ample
D scant

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds

'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the

Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —

The sliver, in the Lung —

The Bung out — of an Artery —

Are scarce accounted — Harms —

Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 95 ‘A Being — impotent to end’. Which part of speech is the word ‘impotent’ in the given line of the poem?

A noun

B verb

C adjective
D adverb

Correct Ans : C

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.

One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds
'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the
Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —
The sliver, in the Lung —

The Bung out — of an Artery —
Are scarce accounted — Harms —
Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 96 Which of the following is nearest in meaning to the word ‘attempt’?

A struggle
B redo

C surrender
D certainty

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

One Anguish — in a Crowd —

A Minor thing — it sounds —

And yet, unto the single

Doe Attempted of the Hounds
'Tis Terror as consummate

As Legions of Alarm

Did leap, full flanked, upon the
Host — 'Tis Units — make the Swarm —
A Small Leech — on the Vitals —
The sliver, in the Lung —

The Bung out — of an Artery —
Are scarce accounted — Harms —
Yet might — by relation

To that Repealless thing —

A Being — impotent to end —

When once it has begun —

Q.No: 97 Which of the following is the most suitable title for the given poem?

A Life - a comedy

B Terror of being individual
Cc Suffering among others
D One Anguish - in a Crowd

Correct Ans : D

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dolle
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 98 what should be the most suitable title for the given passage?

A importance of social media

B addiction of social media

C types of social media

D process of money making through social media

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dollz
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 99 ‘The advancement of technology has made the world very small’. What does the given line mean in the passage?

A the gadgets being used now are way much smaller

B the author wants to implies here that governments are doing their best to provide quality internet connection
C social media giants can access or data whenever they want

D people sitting miles away can talk like they are sitting in front of each other

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dollz
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 100 Which of the following is NOT correct here according to the given passage?

A some people in social dia excessively without caring for their important work
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B social media more ever creates a less urge to devote to much time

C people also se social media to many reasons
D some people are becoming addictive to social media
Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dolle
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 101 Why does the author say that some people become restless when they are unable to use social media?

A because people use social media to forget about personal problems

B because people want to build their career out of it

C because people are unable to spend much time on social media

D because people use social media to create jobs and when they get frustrated when they are unable to do it

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dolle
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 102 ‘It has a very negative impact on them’. Which part of speech is the word ‘impact’ in the given line of the passage?

A verb

B noun

C adjective
D adverb

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dollz
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
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users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 103 ‘Users see curated content, posts, reels, videos that are specifically designed to appeal to users’. Which part of speech is the word ‘specifically’ in the given line of the passag

A adjective

B adverb

Cc preposition
D conjunction

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dollz
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 104 Which of the following is nearest in meaning to the word ‘urge’?

A compulsion
B disgust

C indifference
D capacity

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The very existence of social media is predicated on humankind's primitive drive of attention seeking. And when they successfully monetize your attention, they end up with billions of dollz
mental state. The advancement of technology has made the world very small. People from different corners of the world can talk virtually like they are sitting in front of each other. They ¢
messages from anywhere in the world and can engage with millions of people simultaneously through social media. But some people engage in using social media excessively without cari
day they are checking and scrolling down social media. Out of these some people are becoming addictive to it. Social media addiction is a behavioural addiction that is characterized as be
media. This causes an uncontrollable urge to log on and stay engaged in social media. Social media creates a strong urge to devote too much time and effort to social media and impairs ¢

Although most people habitually use social media, some of them become addictive to social media. If someone is addicted to social media, they will spend a lot of time thinking about soc
social media more and more. They use social media to forget about personal problems and if they are unable to use social media they become restless. They use social media too much w
even if they know that it has a very negative impact on them. While using social media sites such as Instagram, Facebook, YouTube, users see curated content, posts, reels, videos that a
users and stay engaged with it as these contents are based on their interests. They also see other's posts about their great jobs, lovely partners, beautiful homes and feel happy as a resu
attractive that users can't escape without going through it. They get a series of these types of contents and continuously stay engaged without caring for other important works of life. Th
media and as a result few people become addictive to social media.

Q.No: 105 Which of the following is opposite in meaning to the word ‘attractive’?

A alluring

B offensive
Cc adorable
D engaging

Correct Ans : B

Subject : English Language 02

Q.No: 106 Communicative approach to teach English focuses on which of the following?

A the practice of selected and graded structure

B the structural accuracy of the sentences

(o] linguistic competence plus an ability to use the language appropriately
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D none of the given options

Correct Ans : C

Subject : English Language 02

Q.No: 107 Alphabetic method is also known as which of the following method?

A spelling method
B word method

(o syllabic method
D phrase method

Correct Ans : B

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I didn't see her - I just heard her voice.
A too
B hardly
(o} actually
D so

Correct Ans : C
Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

he never completed college, he runs a successful software company.

A without

B even though
C despite

D as much as

Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

He was late again today. You'll have to speak him.
A with
B to
Cc for
D of

Correct Ans : B

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

This time I was actually on time, which is for me.
A unusual
B worry
C situation
D notice

Correct Ans : A

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We moved house three years ago.
A about
B before
C back
D round
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Correct Ans : A

Subject : English Language 02

Q.No: 113 The process of acquiring new skills or knowledge and improving the existing skills is called —

A Teaching
B Reading

C Listening
D Learning

Correct Ans : D

Subject : English Language 02

Q.No: 114 What we learn is not what we are taught. This is because —

A every individual learns at his or her own pace and abilities
B teacher can never fully master any subject

C students love to pay attention to only informal discussion
D teacher’s background differs from the student’s

Correct Ans : A
Subject : English Language 02

Q.No: 115 The term “Rhetorical Decorum” pertains to which of the following?

A Discussions of preaching styles

B Nearly always in control of emotions and voice
C Appropriate vocabulary and language

D All of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 116 According to the Common Core State Standards (CCSS), mastery of language includes .........?

A Conventions of standard language
B Knowledge of the language

C Acquisition and use of vocabulary
D All of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 117 When was National Curriculum Framework Act passed in India?

A 2004
B 2005
C 2006
D 2007

Correct Ans : B

Subject : English Language 02

Q.No: 118 When was the National Education Policy (NEP 2020) approved by the cabinet of India?

A 29 July 2020
B 27 July 2020
C 29 June 2020
D 27 June 2020

Correct Ans : A

Subject : English Language 02

Q.No: 119 Lexical knowledge deals with

A Pronunciation

B Sentence structure
C Vocabulary

D Punctuation

Correct Ans : C

Subject : English Language 02

Q.No: 120 Loud reading in classroom does not help students to improve their
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A Pronunciation
B Fluency

C Confidence

D Vocabulary

Correct Ans : D

Subject : English Language 02

Q.No: 121 What is the outer layer of the ovary called?

2473634
SHUSTR & FTEY HINT T 1 Fgd 87
Cortex
A
e
Medulla
B
Heger
Infundibulum
C
g
Follicle
D
B

Correct Ans : A

Subject : Child Developement

Q.No: 122 Games are organized in your school. As a teacher what you will do?

2474343
S faena & Wage AT 5 T §1 U Rierd & = § offg :1 4
You will go to school when games will commence
A
9 A%e T I a9 31 free s
You will go to school only to see your favorite game
B
g s 31a URiE 1 W e fremer S
You will encourage the students and be with them
C
1Y BRI P e ST 3R S5 Y B
You will not go to school, as there will be no teaching work
D

ST fereTerd TeT S s S e S 7 g

Correct Ans : C

Subject : Child Developement

Q.No: 123 Creative writing should be an activity planned for

2474371
e e T ufefafe gt iy Rt diern
Only those children reading on grade level
A
i U5 wlid grs TR a1 S & g o ARh ot &
Only those children who can spell and also, can write cohesive sentences
B
R ¥ =it 3 forq et ot © S Fost o e € iR et e o e
Only those children who want to write for the newspaper of the class
C
R % 7=t % RT SR ot € S e F THER T H R 96 §
All children
D
wft Tl & g S o §
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Correct Ans : D
Subject : Child Developement

Q.No: 124 A guardian never comes to see you in school. You will-

2474529
e H IS SfirIad o e S 7T el oy -
ignore the child
A
T P AR
write to the guardian
B
- 1 et
go to meet him yourself
[o}
g SN e s
start punishing the child
D

o= P g it

Correct Ans : C

Subject : Child Developement

Q.No: 125 Assertion (A): Physicians, parents and school authorities have become increasingly alert to the child’s need for eye care
2475361
Reason (R): Physician treats the eyes of new born infants to prevent possible veneral infections.

FYT (A): Siaey, AI-Udl iR W5 & SER 9 F oG BT AU B I SMIRADd & IR T 3 JTReD 8l T §
BRYT (R): Sidex WU I WhAvN &1 A & T -Taed a=i 3 SRl &1 3 I gl

Both A and R are true and R is the correct explanation of A

A
A IR R 3F 90 & 3R R, A T O oren §
A is true, but R is not the correct explanation of A
B
AT, WG R, A B T 6T T8 @
A is true, but R is false
C
ATT R, WG R T R
A is false, but R is true
D

AT S, ABPTRITS

Correct Ans : B

Subject : Child Developement

Q.No: 126 Human development is divided into domains such as

2476218
Ta foer &1 A S A o fosar mar &
Physical, spiritual, cognitive and social
A
Physical, cognitive, emotional and social
B
Emotional, cognitive, spiritual and social-psychological
C
Psychological, cognitive, emotional and physical
D

Correct Ans : D
Subject : Child Developement
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Q.No: 127 Gifted students will realize their potential when

2476249
ufaurrelt ST B S0l &l BT WGHRT 99 gHTl Sid
they are segregated from other students
A
I O BT § SrenT i ol 3
they attend private coaching classes
B
3 foht e el § o §
they are tested frequently
C
ST SRR TRegor i ST 8
they learn with other students
D

3 o BET & T e

Correct Ans : D

Subject : Child Developement

Q.No: 128 How many types of motivation are there?

2476887
RN (AfRARH) freR wHR F 8 ¥
1
A
1
2
B
2
3
c
3
4
D
4

Correct Ans : B
Subject : Child Developement

Q.No: 129 The child birth is divided into

2477106

TR PIEH___ =Rl B [HiR B:

2 stages
A

2 RO

3 stages
B

3 W

4 stages
C

4 TR

5 stages
D

5 T

Correct Ans : B

Subject : Child Developement

Q.No: 130 In which style of child rearing, parents are indifferent to child’s decision making and point of view?
2477616

T & UreH-u 3 by e 7 wrer-Rrar a2 & Pk a9 R e B@ F via e B 72
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Authoritative

A

SRPING

Authoritarian
B

Frarct

Permissive
C

g

Uninvolved
D

ey

Correct Ans : D

Subject : Child Developement

Q.No: 131 Fear and avoidance of specific cues, situations or objects can be defined as:

2477648
fafry W, Rufadt a1 axgsl & R oiR UReR &1 30 TR uRyifa foan o1 e 3:
Specific phobia
A
fafte v
Separation anxiety
B
QAR fRfT
Conversion disorder
C
TR fIPR
Generalized anxiety disorder
D

JERfiEa fiar fisr
Correct Ans : A

Subject : Child Developement

Q.No: 132 Who out of the following has quoted “Delinquency is a juvenile misconduct that might be dealt with under the law"?
2477664

Frofiad & 3 e Igyd f5ar § "o/UuR U6 IR 371 gER 8 SR $F & dgd Fuer s dar 32
Alix Strachey

A
ot et
Sylvia Payne
B
Rifear e
Melanie Klein
C
At T
Kate Friedlander
D

Fe Fed=wR
Correct Ans : D

Subject : Child Developement

Q.No: 133 For sensitization on the issues of cultural and religious diversity, teachers should be provided with training.
2478197

i) General

i) Context specific special

Choose the correct code

Fhgfaw o uifife fafded & gef R geieRw & o Rierd o1 UfReror ye i S g

i) A
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i) U fasiy

G PIS I -

i) only
A

i) Faa

ii) only
B

ii) Pad

Both i) and ii)
C

i) R i) IF

Neither i) nor ii)
D

Tdri) Td i)
Correct Ans : B

Subject : Child Developement

Q.No: 134 The teacher finds that a boy child, M, faces lot of difficulties in learning new things and in conceptualization. On close watch the teacher finds that his oral responses were inap

2478333 inds of impairment/disabilities can the teacher think out of the above facts?

e 7 @ TH ST, M, 7S A Wi o sraurons § 9gd SieAgal S Al a1 31 89 ¥ 3T W e 7 urn & 39S Hied Iw SugE 41 IR 9l F R W e fafi

R ¥ 6 g 2

Cognitive disability
A

RiEISISC A NERG |

Locomotor disability
B

It IR ST

Hearing impairment
C

T ST

Visual impairment
D

<P} s
Correct Ans : A

Subject : Child Developement

Q.No: 135 Which of the following aspects need to be considered in an inclusive education system?
2478394

i)Opportunity

ii)Equality

iii)Accessibility

Choose the correct code

Frrash fRren woreh A Fofifed # 3 57 rwgel R TR 1 ) sravaea 32
i) HBT

ii)

jii ) S FTITT

[ Bls

ii) only

&qd i

i) and ii) only

&ad i 3R i

i) and iii) only

S i SR i

D i), il) and iii) only
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Fad i, ii M i
Correct Ans : D

Subject : Child Developement

Q.No: 136 The is said to be the ‘cradle of social virtues'.
2479002

IS UK &I UTaET el o gl

Family
A
IRaR
Education
B
R
Social Class
Cc
IR
Public Institution
D

S SR

Correct Ans : A

Subject : Child Developement

Q.No: 137 If the father respects his parents, the child learns to respect him and other elderly members of the society. Children learn this at which of the following stages of socialisation?
2479042

g T S AT- &1 TEE $RaT 8, A I I9DT SR YA & 3 gopl Tew! S T ¥ Hedn ¢ 99 39 SEite o) Rufifad ¥ @ e s # died 82

Primary Socialisation

A
T TSR
Secondary Socialisation
B
e FHTeiE0
Developmental Socialisation
C
faeraree TamioRo
Anticipatory Socialisation
D

TAIRTT TSR]

Correct Ans : A

Subject : Child Developement

Q.No: 138 1IN which of the following type of socialization, focus is more on developing social skills pertaining to the culture and one’s stage of development?
2479043

fafiad # & {59 TeR & Taeie § Weld R Sfdd & G & R0 4 Yefla Imioe SiRid [aeiia &3 R Sifie e foan o g2

Resocialisation

A
LestiEicay
Developmental Socialisation
B
[EatIcEReE SiEay]
Anticipatory Socialisation
C
TR TSR0
Secondary Socialisation
D

e GHTeieRul
Correct Ans : B
Subject : Child Developement

Which of the followina theories helieves that there is one aeneral mental abilitv that is aoverned bv hereditv?
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QNo:139 T

2479696
Frofefaa & 3 $9 W Rigia 7ra & 5 Tt I 7R emar 8 S erdfRiear gRT fefa @it 82
Multi-factor theory
A
G-I
Single-factor theory
B
-HRP Rigid
Group Factor theory
Cc
E-PRS g
Two-factor theory
D

fe-ore Rgia
Correct Ans : D

Subject : Child Developement

Q.No: 140 Suraj get frequently ill, and therefore, his belief is protection from all sources of illness. According to Maslow’s model of hierarchy of needs, his is an example of which of the fc

2480021
TR SRR FIR 5 B, SR TR, Iuet Ay ot & wb il & gRen 31 A $ snavad sl & vargmy $ Hied & SuRr| 07 Fafifad ¥ § frger 3aeo 7
Self-actualisation need
A
of1e-Rifg #t sfraxama
Esteem need
B
T B Mgl
Belongingness need
C
ST BT SHTaTHDl
Safety need
D

& B SMEAHA
Correct Ans : D

Subject : Child Developement

Q.No: 141 Which of the following is the last stage of the motivational cycle?

2480047
frafared # 9 S A SRRV 9% F1 Sifad = 32
Need
A
SIYHAT
Drive
B
g
Arousal
Cc
g
Reduction of arousal
D

FoeH B

Correct Ans : D

Subject : Child Developement

Q.No: 142 Which of the following type of motivation helps a student to excel in the exams?
2480189

Foffed # & frg yeR 1 IR te el 1 wdan ¥ Iora @ o= & Teg ol 82

A Intrinsic
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Einited

Extrinsic
B
el
Fact-centred
C
g Hfxa
Measurement-centred
D

-Ffem
Correct Ans : A

Subject : Child Developement

Q.No: 143 The concept of reinforcement (reward) of responses (operant behaviour) was given by

2480190
yffarsl (GeTae IagR) % eS0T (37H) B SaURT frass gry <t 7§ oz
Ivan Paviov
A
EEERicEic)
B.F Skinner
B
H.uw PR
J B Watson
(o]
S e
Gestal
D
™

Correct Ans : B

Subject : Child Developement

Q.No: 144 Rajesh is a Geography teacher. He notices that students of class VIII always give excuses for not completing the homework and often protest when assigned projects for the w
2480209 questions must Rajesh indulge in to solve this problem?

IO A & e §1 SR A 3T i onadi S & el g TeeH gu A8 IR 1 95FI 4d § 9k Iweid & o ol Wi S W SR Ay $Rd §1 39 1 Bl gd A & Y I

Do the students lack the required level of intelligence to study Geography?

A
7 Renfiat & 1T BT o1eT B 3 RIT SaR0P ©R 3 I BT 3UE 82
Do the students lack motivation to study Geography?
B
o Rt & e 1 srerA S F R SRon B e 22
Are the students not getting enough sleep to concentrate on the subject in class?
Cc
T Rt @ wean d vy W aF $id w3 F R vai@ e w2 e @ e
Do they find the academic environment at school conducive to learning?
D

7 3 freer & Ry areRor B W & R g T §2

Correct Ans : B

Subject : Child Developement

Q.No: 145 The teacher observes that Suresh was exceptionally talented in running and other athletic activities. To which of Gardner's multiple intelligence theory is Suresh's talent attribt
2480357

e 3 3@ 5 R FeA SR 3 vydfes TRRARRY # s w0 F v w11 @, R B ufen 31 9 TSR $ 59 g9 Risid 3 o @2

Interpersonal intelligence

A
SRATRID IR
B Spatial intelligence
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R /R gewr

Naturalist intelligence

ypfaard! giemr

Kinesthetic intelligence

eradt gfgwr
Correct Ans : D

Subject : Child Developement

Q.No: 146 During which of the following stage of Kohlberg's moral development, the child follows the roles set by the others?

2480386
Fraw & Ade fTem & FofafEa § 3 50 w0 F SRm, a1 gl & R Peid yfierell &1 ure a=ar 82
Pre-conventional
A
-
Conventional
B
TYITd
Post-conventional
C
SW-WURTT
Operational
D
<ferarees

Correct Ans : A

Subject : Child Developement

Q.No: 147 What does mean by Principal of Significance of Early Development?

2480710

TR e & Hed & R &1 @ o 32

It is a universal fact that early development is more critical than later development.
A

g T e 7 § 5 9 & Riem 3 goe 3 Rie o™ st Tgag 31

Early development involves the experiences a child has during young age.
B

RS e # 97 sgHal 31 i i S § S UF 9 31 9 99 & R B B

Positive experiences can be provided by parents through proper love and caring.
C

S R AR ST & e J Wd- R §R SRole® $1gHa WaH T o 9d g1

All of the given options
D

feg g Wi e

Correct Ans : D

Subject : Child Developement

Q.No: 148 Through school based assessment teachers are able to —
2480720

feremer sneTid Hedie & Arerd & Rige and 14 § -

Evaluate students in each semester

A
TP YAER & BE BT HeidT S
Evaluate without feedback
B
form vfafern & geaie & &
Not evaluate
c
TR T A
D Engage regularly with learners
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Rranfefell & wy Frafirs = & fre gem &

Correct Ans : A

Subject : Child Developement

Q.No: 149 Micro-teaching is:

2480859

et e § st § ¢

teaching micro-concepts of the subject
A

fawva ot gem srauronst &t wagET

teaching at micro level
B

Y& WR W ST DA

providing detailed explanation of concepts and principles
C

SRS Ty Rigidt o1 faga faavor &

practicing different teaching skills separately
D

faftye oo PTGl BT YuS TG F T BT
Correct Ans : D

Subject : Child Developement

Q.No: 150 Phallic stage of Psychosexual theory of Freud corresponds to which stage of Erikson’s Psychosocial development theory?

2482216
wiEs & RS (Feme) R ot Rl s, tRew § wemie Qe Rigia 9 5 sawn $ 9 §2
Trust versus mistrust
A
fasyre s sifayry
Autonomy versus shame and doubt
B
W T T T W3E
Initiative versus guilt
C
TE S ORI
Industry versus inferiority
D

qRe S gFar

Correct Ans : C

Subject : Child Developement
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